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1. The diagram below shows how ‘sbm‘e'mganis‘mé (not drawrr to scale) are grouped,

Group A} GroupB’-' R

- Which of the following ‘statement(s) is/are corract?

A -The organisrs In Group A and Group B reprtxiuce by spores.
B The organisms in Group A and Group 8 are hon-flowering plants.
C  The organisms 1 Group A contain chiorophyll but not those in Group B..
D The organisms in Group B are micro-organisms but not those in Group A.

() Conly
“{2}  Aand-B ouly
~{3) CandDonly
(4) B,Cand Donly
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2. Study the fiow chart shown below.

No

-
i

S\ L Yes B

No

No

- Which of the following shows the-correct criteria for classification representad by A, B,C-
and D) respectively? | o S

A B ¢ D

iy | iaeat 8. | Ao Has 2 legs per "~
{1 Ha§3bogy ?arts Ha&‘a"ﬁlegs | Has broad body segment |

| fas- . Has 2 legs per 1. g
()' VHas?bndy péﬂs Hasqud-yparts. segment. | Has_broad_body

@ | Hasglegs | MASZEEIPN | 10 body parts Has 6 legs

“) Has 6 légs as broad be ' | Has2iegsper
g Has roa body Has 8 legs sogmant
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3.

TR S

Edch fetter in the diagram below represets a stage in the life oyce of a butterfly.

D [~

B

Which of the following statements is frue ffB represents the adult stage?

AlStage A, it has wings to fiy around.
AbSlage C, it spends most of s ime eating,
Al Stage D, It moults several limes as it grows.

{4) At Stage D, It does not eat and does not move around.

(1)
@
(3

Mary placed identical number of seeds overco
namély A, B, C, D and E. The seeds ineach

showiy in‘the table below,

otton wool-in 5 identical $0-litre-jars
jar are exposed 10 the conditions as.

JarA

anr' B

JarG

Jar D

Jar E

« Open-

--.Qpen

+ Opeh

“amp |
catton wool |

Damp
oolton wool

[+ Damp

Sotton wool |

cotton wooi

cotion wool

Plagedin | »
the garden |

Placed-in
the garden

.+ Placed in
the freezer

« Placed inthe
tardboard

B Placedin |
- thergarden |

- Gonfained .{
fo'absorb |

cathon
dioxide

~ Contained
~toabsort

oxygen

.. Inwhich of the jarg would the seeds most likely to germinate?

(N
2
@

@

Aand D only
"B and D only

A, Cand D only
"3;cmaomy'
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5.

Ramah conducled an experment in an enclosed hall, using identical specimen A Y
and. Z-of tha same type and size. He attached a 59 plasticine to X and a 20-g
plasticine to Y.as shown in the diagraims below. o .

Ramah drapped each specimen, oné.at a time, from ‘a-fixed height above the ground

~and recorded the distance, .d (cm), travelled by each specimen, as shown In the-
diagram below. , ‘

3. heightatwhich
§9 specimenwasdropped

wind ——»

ruler

s Specinter landed
T § . '.

- o -

Which oné of the following mast iikel§ shows Ramah's results?

Distance moved by sp"éclmeh,. d '(cﬁt)
X Y F2

1y | 239 56.7 E0.0

@ 567 | 289 6.0

3) 587 B0 |- Be.

“) 89.0 567 1 288

| 2{_11‘2.i=s Sdehqe'l?relim '
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Thie diagram bélow shows the flower of plant X and inisect Y.

| lr‘ise'ct"‘r’

Which one-of the following statements: best describes the relatianship betweeh plant X
and insect Y7

(1) PlantX helpsinsect Y o hidé from its prey.’
(2}  InsectY depends on plant X to find Its mate.
(@) InsectY helps plant X topoliinate its Aowers.
(4) Plant X depends on insect Y to produce ifs nestar.

L
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Alexis observed a seed which: develo
mass of its seed leaves, as shown in

;;eed leaf

-----
-
LT
-

imass (g)

_'-'-«/

, shoot

fer 10 2
O b

------
.
-

*~s. seed laaves

shoot

time (days)

6 8. timg(_days)-

ped into a seadling over 8 days to compare the
the diagram below.

- 'shoot

 Which one of e following graphs best represenis the' résults of Her experiments

\ shoot

.-~ seed Ie.faVes__

-
-
-
----------

2).

mass {g)

timré (days)

# Séed leaves

-
-
.....

ﬁga'(dayss)-
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A man ate fish porridge at 6 ani-on an-etmply stémach.

* Wihich one of the faliowing grighs most likely shiows (hé correct amount of undigested”
Food leftin each part.of his digestive system at 11 am? )

U I, ! 9 Y
“ﬁmwﬁmf - @ Amount.of
Undigested. undigested
Tood,(mp).. l - Tood(ma) |

A B Cc D
Pant of system

® s

A B C B
Pari of system

zbu-Pé"Seiéme-#rdt}p .




. . _ The-chart below shows how some subs_tahcg's:aréjtr,ansported in the human. body. |

System X - S_yétémz'

SubstanceQand  Sufsfance P
Sigested food R

Substance P "Digested food

Systern Y
Substance P and
digested food

_Other body parts

Which one of the following correctly iclentlf ies substances. P and Q, and systems X, Y

and 27 -
o SubstanceP Subsmnceﬁ Systqm}( | Systemy. |
v | Camon | Circulary | Digestive |
M1 doxide | Oxygen ystem | system '
; - ‘Carbon . Digestive | Girculatory - Respiratmy
'_(2—) ‘dioxide . _Oxyg,en {___systent __sysfem __System '}
o Carbon Digestive Respiratory | Clrculatory |-
(3} | Oxvgen dioxidé Systorh . | systein.- | system
g | " GCarbon- Respiratotyﬂ Circulatory -} -:Digestive
@ rOxygen dioide system 1 __system 1: system

LI
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10.

The table be!ew showsfour sefs of results, W, X, Y and 2.

Harty wanted to Investigate how fhis light intensity affects the rate ‘of photosynthesis of - .

medsuring oviinders conftaitiing idenfical amount of waler as shown In the: diagrams
below. The set-ups were placed in a pitch dark room.

the fully.subimerged aquatic plaat, Elodes. He placed two Elodes in sach of the three

Light source

.M‘easuﬁﬁé Cyltnder A

3

R os
was
)

Light source

Light sotrce

S

Measuring Cylinder &

.Bistanéé'of';;i:a_ntfmm ] . Nusitber of bubbles counted
“Alght sowrepfom) | W X 1 ¥ T Z
- 30 .20 20 R .-0, 10

Which of the following i most fikell 10 be the set of results collected by Harry?

mw
2) X
) Y
@z

2012 P Selance Prelim -




1.

The diagraris below show three different types of cells, P, @ and R.

R e

Which of the.fol'lomiﬁg statements are most likely true?

A Only Qs found In animals,
B Alt the gells are found Inplants.
c Only R Is able to carty out ‘photosynthesis.

D OniyQandR areable o sany ot call divisian.

| ?;)' Aand C
{%) BandD _
(8)  ABandl

4 A CandD

io -

nucleus

" 2012 P8 Science Prafim




12.

13

Duetome e;densfveb%mgachvﬁxes '-‘i‘n-a--fetes“;t,- atcaases s_bt‘_l.'.em:sicﬁ in the ar‘eé. As a

result, targe.quantity of solf has'been washed into the nearby lake disring torrential rains,
Based on the above infontiation; which of the following statements about the effectof sol

. evasion.on the lake isfare fikely to be true? )

A The sqil_rpad_icles'.semektm the bottom of the iake will cause the lake to become
increasingly shallow,
B The amount of dissolvéd oxygen In the lake will decrease due to the fower rate

‘of photosynthiésls of aguatic plants.

G The population of the fully submerged plants in the murky lake will increase dua
to increased fight availability below the surface.

(1) Bonly
(2} Cronly
(3) AandBonly
(4) AandConly

Nurul wanted to ﬁhd out If the presence of fertilizer affects plant growth. She prepared

4 sel-ups, W, X, Y and Z; using 4 similar plants. The table below shows the antount of
fertilizer and water'givan to aach set-up.

- | setupw | setupx [ SetupY | Setupz .

- Aimount of fertilizer | Sl every | P R —
added (miy | fourdaye | SWidally |0 | @

Amountotwatsr | .. | S

added dally (mf) 70 0. | 70 | 80

Which of the following set-tips should Nurui use In order to carry out a fair test? T

$et41b

Ty _
3 XY

@ ¥z

LI N

11 T
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14.

- The food web below shows the food relationships among some organisms in a pond

community.
Common
water flea Algae
Water snail ;\
Tilapia - ‘ ‘N Water plant
¥
Kingfisher : ‘Tadpole
Great diving -

bheetle

Based on the above food web, which of the following statéments are true?

A There are two. omnivores.

B. There am six food chains.

C There ara three-predators.
D There are three herbivores.

(1)  AandBonly
) CandD only
(3 ~ A BandDonly
(4) B,CandDonly

12 .
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95,

substancas.

N '*Itllll s

oil with nitrients for the plants to grow wéll, The diagram
posers act on dead matter and change them into simiple

1 wvenaw. acts Qn

—— I8 braken down into

— > is absorbed’hy

Which of the followiiig best represent X, Y and Z respedively?

X

Y

W

,c_atiéah dioxide

 predators

: @

wator

fungi

nutrlents

mine,rag._sa{{sf: !

peey

aﬁ&nﬁl:was_,te

“)

Amine_ral-'safts-

bactéria

animal waste

13

2012 P§ Sclencs Prelin




16.

Clownfish-liva it groups ar‘r":_cng Sea anemones as they depend on the sea ansmones
stinging fentacles for protection.

_lt is a unique species of fish due to its aliility.,to switch ‘sexes. In each host anienione,

there is.oniy one female brarder which Will hate with the only male breeder. The rest ~

d_f‘_thé:‘c:!dwnﬁsh'aré.'ma';e-nqn-preedera which are sexually immature. The size of the
clowrifish gets-smaller a8 thelrfank decreases.

If thie female breeder in the group dies, the male breeder will change sex and increase
in size to'become the fomale breeder. The largest male non-bresders will become the
male breeder... . )

The diagtam below shows the social hierarchy system of clownfish.

Female breeder
(top rank)

(second rank)

Male nop-
" breeders

.Which.of-:the following ‘statements are most likely-true about the clownfish’s. ability to
change sex? .. :

A It allows them to be protected by the sea anemones without ha{fing to move ™
around to search for a mate. :

B Itensures that there will always be'a female breedar.and a male breeder in the
. group to allow them to _contihue.breedin_g. S

G It ensures that any male non-breeders within the group can take over the role of

.

the female bresderin the absence of female clownfis

D Itallows the male non-breedpr to take over the role of the female breeder once
they have grawn {6 a larger size than the fernale breeder.

- {1} AandBonly
(2} € and D only
(3) A,BandC only

(4} B,CandDonly

14 o
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17.

. Gompoast is rich black soil y}}hich isused as
slmply recycling waste materials and aliowd
qutickly. |

. .The table below shows four groups of waste materials, -

fertilizers by farmers. it can be produced by
ng them: 1 decompose naturatly and

~Group B

Group D

Tea leaves
Egg shells
Orange Peels

. Syiinges
Glass buibs
Styrofoam boxes

Metal rings
Leather belfs
Woolen socks

~ Paper
Cotlon rags
Woaden toothpicks |

Coffeé powder Plastic halrctips

Which of the folfowing groups of waste materials are:suftable to be used to makethe
.compost? S

Aand C

Aand D

Band C

Band D

18, Durlng a-solar eclipse, the sky becomes dark for a short perlod of time duting, the day.

The diagram below shows the positions of the Sun, the Moon and the Earth when the
solar eglipse occurs (Not drawn to scale). '

Sun

e
‘..-v'-
o

o IR
W A,

Yy
AR
&

13

Earth

Using e information above, whilch one of the following statements best explaing why
. .@ parficular region of the Earth becomes dark when the Moan Is between the. Earth
"ahdtheSun? . | |

The Moon dbsorbs the Sur's light,

The Sun reflects light to the Maon only. .
The Earth does ot allow the Sun's light to pass through, |
The Moon blocks the Sun's light from reaching the Earth,

15 ) o "~.
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Jim conducted an experiment to-compare the texture of four different surfaces, P, Q,R
and S, SR ) : : )

" He placed a shos on’surface P and pullad i it the dirsction 4s indieated by the arrow
(. —» ) shown in the diagram below. .

He recorded the amount of force needad to pull-the :s-h'oe over a fixed distance.

"N Jirh placed the same shoe on thel Sther &yrféces, @, R and 'S, hé &t a tiné and”
recorded his results for each type of surface. His resulis are shown int the {able below.

Typa of surfaces | Amountofforca (i)

a =i
R TS
5 90

Based on the resulls above, which one of the following-conciusions Is correct?

(1)  Surface R'was the roughest and surfac_ﬁé‘s:was 'ﬁw-squfheét.
(2)  Surface Q was smoother than surface R but rougher than surface S.

(3)  There wias least friction between the shoe and surface i, as compared to other

_ surfaces, : : _ ‘
(4)  The friction between ‘the shoe and surface P was greater than between the
shoe and surface Q, : o
16
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20. 'ﬁaj‘a heatex! a*flask of water over a flame as shqﬁn below.

- test tube

After a while, Reja observed that water droplets were formed.-
Which oné of these diagrams shows the parts where Raja saw these water droplets?
@

waler ater
eater water .
-droplét droplet |




" glass sheet’
at 30 °C

beaker

water at 50°C

Which onie of the following will most likely result In an Inciease in the amount of water
droplets formed o the glass sheet?

A Addiceintothe water .. .
B Use a colder glass sheet
C increase temperature of water
D Place afan in frodt of the set-up

(1) BandConly

(2) AandDonly
3) - B, CardDonly
(4) A, B and'D only

8
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22,

o sy

 The resulfs of thé ‘experiment wére
- indicates the lamp was Titup.

Betty had three rods; P, Q and R, made of different materials. She placed them in
varous positions, A, B and C, In the circult shiown below.

——0 A G

L2

1

c

shown in the table below. A fick ( /) in the box

__Positions whére rods wers:p

laced

' Lamp lit up

A

B8

C

L

R

: E j--'":ﬂ ﬁ

R |
P
=

-J

Wh_ich one of the foliowing. statements Is most likely to be tue? .
(1) Onlyrod G isa conductor.of clectriclty, |

(2) Onlytods & ahd R are dondustors of electicity,

(B)  -Ontyrods P and'R are nonconductors obeloctslly,

4)  Onlyrods P and Q ‘are fon:onductors of

e
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24,

D
_ gg B only

The diagram below shows a cireuit arrangement witl identical dry cells, switches ard
buibs. : - '

Which of the following switches must beclosed to light up-at least three bulbs?
(1) S1and 82 only

(3) 81, 83 and 84 only
(4) 82,83 and 84 only

Sally sat up.the following experiment. Pbikit_"(;..qﬂthé plank was in contact with the edge
of the block, as shown i the diagram below. WWhen she released the ball, it traveliad .

down the ramp but was uinable to hit the cantainer,
ball |

btock;— _ ~e -+ Thewrcontainer

Wiich of the following would rrost likely allow. the ball fo travelfurtherm crder to hit the
container? — ' | :

- A Apply oil on the ball,

-

B Wrap the plank with sandpaper, .
C  Exertapush onthe ball when releasing it
Shift the block such that peint X of the plahk is resting on the block,

_ Band ¢ only
(3) AandConly

#) A CandDonly

. 20, o - o
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Two ¥orce$, Fi and F, weré'e:éeﬂe_d on BloekA_ét ﬁie 'éame ﬁmé. as' "s;how;t in ihé
diagram below. When Fz is greater than Fy, Block A moves towards point X;

BokA — > Direclion of force
R oo -exerted on the block

— ->Direction of movement

F1—» of the block

N vanhe

Y

Forces, Fy to Fs, were exeited on two other identical blocks at the same lime, as
shown in the diagrams below.

Fa—t

Which 6e of te followitig shows the correst amounit of fofoes, Fy, F and Fy, exetted
on each block such.that Block B wil move towards. point Y while Block G will remain
Hatiorary? -

MTTHNA

S Mt =Y I ) BN
(1) 16 - 30 - ¥ 20
21 . 20 10 - 20
8 20 20 1

- (4) 3. . | T 10 20

21 -
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26,

27.

A magnet was placed on a steef tablgé-top. A push was exerfed oh the:inagnet to move
it horizontally across the table from point'A to'point B as shown in the-diagram below,

 rhagnets .

- steel
. S table fo
push - - {' P
A B

Which of the following force(s) must the push overcomie such that the.magnet. moved
from paint A-to-point B? Y

(1; Frictional force only
(2)  Gravitational force only
(3)  Frictional force and magnetic force only

{4)  Frictional force, magnetic fdrcs and gravitational-force

When lan placed an object between thie light source and the white screen, a shadow of

| the object was cast on the wh_l_t,e_screen as-shown belaw.

white
streen

object —

light source

Which of the following changes should {an make to the setiup sieh that hs Goutd
obsafve a bigger shadow of me object? - ;

A Use a brghter light source, -

Move the screen further from the object.

C Move the fighit source hearér fo the abject.

D Move-the light source further from the object.

(1) ~ Aand.0 only

() - Band Conly
(3} A, BandD only

{4} B,CandD only

2012 P& Science Prefim




Cindy had 4 diffarent bimetallic stps, A, B, ¢ acd D, of the same length. Each

bimetalfic stip.was made up of two diffefent metalé joined together.

Cindy heated each stip, A, B, C and D, with the sama amount of heat for the same

- period of fime. Shie recarded her obsetvations as-shown In the diagrams below. .

™
@
@
@

 Bimetalicstip ¢ ' Bimetalicstiph

Based on mé_ information above, which of the following shows ‘he correct
arrangement of the metals, P, Q, R and 8, in ardérof increasing rate of expansion?

8

P
P
Q

[
I RS R L
Al i O

o s

23
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The diagram below stiows a stoel bridge.

bridge
2‘:301 . ™ O - roller
L] Lt —
structuré — ‘ " |

resting on rollers as shown above,

"One end of the bridge is fixed sequrely' to'the structire unlike the other end which Is

Which of the following statemeni(s) explain(s) \k._rhy; onie end of the bridge Is resting on

. therollers?”

A To reduce friction between the structure and the htidge.

B To allow the bridge to expand on hot days without damaging the structure.
o To alisw the rollers to contract on cold days without damaging the structure.

(1) Bonly

(2} AandB only
&) Band:C oily
(4} Aand G only

24
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30,  The diagram below shows Mr Wong playing bowling.

- Which one of the following tiest shows the eriergy conversionswhen the bowling ball’

rolls and hits:the plns?
{1) kmeﬂc ensrgy _,_,_. hest energy iy kineﬁcenérgy

|| (owiiighal) " (pine) (pins)

S gmvrtaﬁmal — kmeta: éné_:gy —» sound energy + heat'eneggy
2 mtentiaianerw e .

: {man) _ {bqwﬁng ball) (pins) (pmS) RS
!qnet!cenergy —+ kineficenergy + soundenergy -+ heat énergy
18 | _ -

T b @W'mba'ﬂ (pins) (pinsy  (pins)
.chemlcal — gravitational —» kinetic —» sound + heat
-potentiai potential energy energy eheargy

“) energy eriergy o "

{bowling balf) (man}  (bowling ball) ~  (plins) (pins)

2012 PG Scionce Prelim - .







Name : e i b o

i IidexNO:_ -~ Class:P6__

SECTION B (40 marks)

For guiestions 31 to

The number of marks

44, write your answers clearly inthe spabes_, provided.
Aavailable {s:shown in the brackets [ ] at the end of each question or

part question.

31" The table below shiows the flowering monthis for.plants A, B; G and D,

P}ant

Flowering begins in

Number of flowering months

A

May .

B

February

-G

. Aprit

B

Jine

nafrolwa o

The foliowing is a graphic representation of the data above.

Nov

‘Qct

Seap

Adg |

Flowering mont'_hs

Bickia

A B

c

‘ Plants
. +{8)  Based.ohithé information above, for how many months did Plant B flowei? [

B

{(b) Usethedatainthe table.abové. com
the appropriate box(es) in the above

26 -

araph,

plete the graph for Plant D by shading

[1}

Score
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3z,

Hannah placed 5 identical pots of seediings, A, B, C, D and E in the field and

watered them with different amount of .watér. §
increase in height of each 'seéedlings at the end of
below.

he. recorded the daily average
one week as’shown. in the table

- Amountofwater.

Pot' | given daity fmi)

- Daily average increase in
height of seadlings (cm)

25

2.0

30

25

50

3'.0‘.

e

4.0

m O Of o >

85

4.0

(@ Based on the information above, ‘how-did the amount of water given ta the
sgedlings daily affect their growth?

]

(b)  For the seedlings to grow well, their. agérag@i increass in helght have to be at
least 4.0 cm in one week, From the:table:abive, suggest fhe least amount of
water to give to the seedlings per.day & enstiie that they grow well. 111

i
LA

Score
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. 33 med:agrambelowshowsa plant.
hud

&

“developing - e
- fiue "—\ / , |

(@) Identify the substances that were transported from A to B and from Bt6 &,
. ) . : ['H .
B AwB:

iy BtC:

e (b) ,;Begides'tmnsgorﬁﬁg substances, suggestanother function of the'roots.  [1].




34, The disgram below shiws four different layers of a fypicat rainforest.

sunlight

Layer3 -

o it s

Layer 2

Layer 1

Forest floor

" tvan went trekkirig int a rainforest and he- observed that there are fewer plants found
on thie forest floor than the upper layers, 1, 2 and 3,

Based on the information above, explain ivan's observations. 2]

Score

29 . ’ -
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. Kelvin wants o mvestigate thie’ eﬁect of poilutant X o
using all the materials provided in the table be!ow

n the survival of aquatic-plant A

I PO

1_0.sxmiiar aquatic plant-A
1 dropper
2 identical beakers

T contamer con&a:mng 460 nl of pond water

1 bottle contaiing pollutant X

Wiite down the steps that Kelvin should carry out in his experiment. 3] .
TIStep' Procedure
1 4

Describe what Kelvin would observe in orde
a harmiul effect on the-aquatic plant,

rig conclude that Pollutant X has

il

Score-

2012 P6 Sclence Prelin - [




The: classrﬁcatton chart’ below shows how the beaks of four specses of birds and therr

diet are-grouped.
Types of beaks
¥ 1 | -
Curved “Not Curved
] ,|
Shoit Long Short Long
Feeds 6n ‘Feeds on Feeds on Feads on
the flesh-of nectar seeds fish
othér '
gnjn)als
A B c D
{a) Based on the mfom*uatuon provided abave ‘writing the letfers (A to D) in the
_ cotrect.boxes to-match each beak shown in the dlagrams below. 2}
Soofe o
: iyl

3
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e

 The diagrams below show the nesis bullt by Bird X and Y.

Nest-of Bird X | Nest of Bird ¥

(®)  Based on the diagrams above, which bird has: built a nest that-Benefits its
young during rainy seasons?. Explaif your answer.. S )

~

() Predatory birds possess keen eyesight to spot prey on the grotind while fiying
. ... Trom a great feight.
T Why is ﬂie_stmg'ture of the nest of Bird Y.a disadvantage compared fo the nest
of Bird X in the presence of predatory birds? Explain your answer. {1}

Score
9

2012 P6 Science Prefim.




37. Rati had thigé containers of the same size, colour :gn_c‘f'"tﬁiciciess, each made of

different materials, R, S.and T.

He filled all the containers with equal amount of walter and l&ft them in a room with a
constant temperature of 35 °C for 3 days. After 3 days, Ravi observed that the water

- lévelin edchcontainer decreased as shown in the diagram below.

)‘ t—Mate'rialR ) tMateriafS ) t Material T

— water ==

Ty B

(a) Based on'the observations abc;ve, what can yb.u infer about.the properties of
materigls, R, $-and T7 . ()

(B)  Ravi repeated:the experiment by plaging the containers in an-air-conditioned
room at:a temperatupe of 20 °C-for'3 days. Would there be any difference in
the-chane of wafer favel-in ‘tiie thre¢ conftainers compared:'to the. eatiier
experiment? Explain yoit answer. @

{ Score

33 T , |
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jar was sealed tightly with-identicsl plastic sheet-and then placed oh a weighing scale
as shown in the diggrams bejow. . :

 Next, Jar X was heated while jar Y was left in & room. After 15 minutes, each jar was
placed on the weighing scale again,

~-{8):  Would Hamidah observe an increase, a decrease or no.change in the massof
eachjar? . i

(i) Mass of Jar X 1 _

@) MassofarY s

(b)  ‘Explain your snswer in (a) for Jar Y. - B

° s,

Score
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39. Mandy set up a circuit tester-and a circuit card as shown in the diagrams below,

contact
points

Clrcuit tester

B - &
As e D
[ g L 2
F E
Circuit- card

The circult tester is-used to test the circuit card. The: circuit. card has a metal
thumbtack at each point, A, B, C, D, E and F. The thumbtacks are connected by

wires behind the card.

.. .The results are recoided in the table below.. .

Contact points of circuit tester

connected fo thumbitacks at Did the bulb light up?
Aand B Yes
B and F . Yes'
Cand D No
Condr Movann
D and E Yes

S

(@) Draw lines in the circuit cards below to show two possible ways of connecting
the thumbtacks to achieve the results as shom inthe table above. (2]

2 |.

-
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Ina dark roory, Mandy conducied another experitaent in which different number of '
dry cells was added In & séries arrangement to the same cirouit tester. When the
. dircuit is ‘closed, the brightness. of the ‘bulb was measured using a light sensor

attached to a datalogger

D) Predictthe results of hersecond expenment and complete the table below. . N

Number of batteries _Bﬁghtne;ssqf 'thg bulb '(unlts)
1 =
2 800
3 0
4

-
P
-

L]

(1

" Score
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40.  Sophiahad four rods, P,.Q, R.and S, each wiade of different materials. She wanted
to investigate the. magnetic strength of each rod-using thie following set-up.

I

rod

_.nails

e .A : itfay

When the switch was opened, the. number of nails in the tray was .60. When {he
switch was. closed, the rod-attracted some of the iron nails. The number of nails left
in the tray' was recorded in thé table bélow, =

(a)

b}

(c)

“Rod Namber of nalls 1efi in the tray
P — 36

R___1 33

s _ WX
Based on the table above, which rod was the strongest electromagnet when
the. switch was dlosad? Explain your-answer. {1]
Identify a variable that should be kept constant in order to ensure a fair test
was catried out , _ K}

When Sophia replaced the rod with red, T, she observed that the number of
nails laft in the {fay was B0.- Based pn this observation, what can you infer
abodt the property of rod T? o 1]

-Seore | .
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41, Minsh prepared the setup below to niove'the balloon and the straw from wiall A to
wall B. In-the: set-up, she passed a wire trough a straw, which had a balloon
attached fimly to it.

. walB

wire

balloon

(&) When ihe rubber band was removed, air tished out of the balloon. However,
she observed that the balloon.and the straw remained. stationary. Explain this
observation using concepts on forees. [1]

(b)  Without changing the materials in the _set~up,-sugg¢s} what can be done:-to
move the balloon @nd the straw to wall B when'the: rubberbandwas remicyed..
| | o i3

‘ Score - .

.38 - oL e e
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42. Betly prepared the set-up as shown below. She observed that the cup ‘Started to spm

after a while.
- — 3 .
string ; —— ‘retort stand

w— T
candle ——% 1

1
State me'ingiﬁ?ganergy change iy th&"séf—up. above. [1]

{a)

loandle

o unlitcandle
Betty repeated the experiment using stings of different lengths. She measured the
aumber of times the cup spun per-minute. She presented her results in the graph

showr below,

Lt

times:the cup
“spin per minute:

-Length of string (cm) .

[
' ol

(b) ‘What is the relationship’ between fhe spinning rate of the cup and the distance
between the cand!e flame and the cup? [}

1
LI

Score
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{c) Befty observed that the cip spun at & different. rafe when ‘she used two

candles instead of one candle. -Explain her obssrvation. 2]

43.  Tom wanted. to investigate how the amount of water affects the time taken for it to
boil. o

Tom prepared thiree set-ups, X, Y'and Z,.as shown in the diagram below. The flask
in each set-up was filled with a diferent amount of water at identical femperature
before same amount of heat was- dpplied to each ofthe flask. _ :

thermometer

L - ___conicalflask
watet i s

bunsen burner

He recorded his results in a table shown below. -

Setup .| Time taken for the watsr to boil (min) '_
S R - R

Y - a7

_Z ) 15

Y

~ Which-set-up; X, Y or Z, had the greatest amount of water at the beginning-of the
. expetiment? Explain your answer. [2]

© 5 sty

Score _ .
N T )
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44, The'diagram below shows' set-tp X which consists of & metal bob attached to a

string hung from a support. |
‘qupoﬁ W ﬁ -

e
o -~ Lo
: § ™
bob—( ) ; -
A : \\_‘_:
B
Setup'X.

When the metal bob s released from point:A, it swings to point B and then to point C.

(a) At wﬁich point, A, B or C, does the metéf bob pbssess the most amount of
gravitational potential energy? Give a reason for your answer. {1

(b)  Give a reason why the metal bob is unablé to-move back to the same height

at paint A after the first swing. 1)
Scora
-2
4 ‘ |
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" The diagram below shows afiother identical. sétup, Y. The metal bob s réleased at

positien, D

| _sugport . u T
B80% N 1N
. AR \\ .

R E R
PR
SR
[} \
1 LY
[} LY
1 \\
i .;"-
-y 1

-
-
-
. I¥] b
m{ )
4
i

Setup Y

—

(6). . in which setup, X or Y, would the metal bob possess ‘a-greater amourit of

Kiristic.energy atthe Towest point of the swing, point B or point E, respectively? |

Explain your. answer.

[2H

LR

~END OF PAPER

Setiers 1 M Lo Syah Khim, Mdm Lim Sok Yer, Ms Lob Ching Yee, Mrs Shaton Seat

42
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EXAM PAPER 2012

SCHOOL : RAFFLES GIRLS’
SUBJECT : PRIMARY 6 SCIENCE

TERM : SA2

QL] Q2] Q3 | Q4105106107108 ]| Q9 1Q10/Q11]|Q12{0Q13|Q14{Q15]| Q16 Q17'

1] 113 |1 ]2 |3 |1 |4V4a 3133 | 2]4] 17 2]

Q18 10Q19 | Q20 Q21| Q22 ] 0Q23]1Q241Q25]| Q26 Q27 | Q28 | Q29 | Q30

4 3 2 1 2 1 3 4 3 2 2 2 3

' "31)a)5 months.
b)YD/ Jun, Jul )
- 32)a)The seedlings watered with more water grew taller than the ones
watered with lesser water until the seedlings that were watered 65ml or
more’s daily average increase remained at 4.0cm.
b)9ml.

33-)a)_r)water and mineral salts.  fi)siigar.
b)The roots anchor the plarit firmly to the ground.

34)Most of the sunlight-was blacked by the plants found in the upper layers.
Hence, the plants growing on the forest floor lacked sufficient sunlight to
make food. :

35)a)1)Pour 200mi 6f pond water from the container into the beaker. —

2)Put 5 aquatic plant A into each beaker.

3)using the dropper; drop a few drops of pollutant X into one of the .
beakers.

4)Place beakers in a sunny area for 1 week.

‘5)Observe the number of aquatic plant A that remained alive after one
week,

Page 1 to 3 page 1



Answer Key


35)b)The aquatic plant X will dlel wh:le the aquatlc plants WIthout pollutant
w:!tstlll be alive. o .

36)a)i)D ii)A iif)C iv)B
b)Bird X. The nest’s entrance is at the bottom so rainwater cannot get in the
nest, unlike the nest of Y which is exposed to the rain.

.c)Top.of Xis -covered up but the top of nestofYis exposed SO predators can .

spot them all easily.

37)a)S is the best conductor of heat among all the containers.

b)The water leévels in the containers-will be higher. The temperature
difference between the water and the surrounding air is smaller, so water in
the containers evaporate slower.

38)a)i)no change. ii)increase.

b)When water vapour in the surrounding air loses heat to the cooler outer
surface Y, and condenses to from water droplets on the outer surface of Y. ThIS .
results in an increase in mass of Y. '

39)a) B C b)1)400 2)800 3)0 4)0

40)a)Rod S. The number of nails left in the tray was the least among all other -
set-up;. showmg that Rod: S attracted: the most nails. '
‘b)The humber of. batterles in every set-up.

€)T is a non-magnetic matenal and cannot be magnetlzed into an
electromagnet.

41)a)The force exerted by the air rushing out of the balloon was not enough to
overcome the friction between the wire and the straw.
b)Blow more air into the balloon.

42)a)Chemical potential energy-) heat energy->kinetic energy '
b)The shorter the distance between the candle flame and the cup,the faster
the spinning rate of the cup.
c)'fwo candle take in more oxygen and. produce more carbron dioxide than
one candle, resulting in more kinetic energy of the cup as the carbon dioxide
will push the cup side ways due to the slits. Warm air rises and cool air smks.

page 2




43)Y has most water which needs to gain more heat ‘t_o_reaéh'the boiling poiﬁt.
Hence, it took the longest time to boil, - i

44)a)Point A. At A, the bob is at'the highest point before swinging down to B.
The metal bob not swing higher than its starting position at C,
b)AIll the gravitational potential energy is converted to kinetic energy,
sound energy and heatenergy: . = L o
- ©)There is more giavitational potential energy in the-hob at point A than the
bob at point A than the hob D, so more gravitationa] potential energy was
converted to more kinetic energy. : :

Tevaan,
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